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IHS Cost Avoidance or Cost Saving Potential


A. Claimant’s Name: 
B. Date of Injury (DOI): 
C. Date of Birth: 
D. Current Age: 
E. 78 minus age = ____ (number of years to age 78)


Note: The life expectancy may change, please refer to CDC reference here: Using CDC National Center for Health Statistic Life Expectancy  

F. OWCP Gross Compensation (each 28 days): $______
G. OWCP Gross Compensation per annum
(Line F x (13)  = $_____

	H.	OWCP Gross Compensation: Line E (number of years to age 78)
		 x line G = $________

Additional Comments:
This savings is based on the current compensations payments and does not include medical expenses, vocational rehabilitation or other cost relating to this claim. 
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